
Subject: Weighted result's total gives different total value with unweighted one.
Posted by Ugonna on Thu, 18 Jun 2020 00:50:38 GMT
View Forum Message <> Reply to Message

I observed that when I apply weights to my analysis using data from KR file, I usually get a
different population size from the unweighted analysis.
Please what can I do to arrive at the same population size after I weight my analysis.

Thank you

Subject: Re: Weighted result's total gives different total value with unweighted one.
Posted by Bridgette-DHS on Thu, 18 Jun 2020 11:55:12 GMT
View Forum Message <> Reply to Message

Following is a response from DHS Research & Data Analysis Director, Tom Pullum: 

The child weights in the KR file are the same as child weights in the BR file and the same as the
mother's weights in the IR file.  They are normalized to have a mean of 1 (multiplied by 1 million to
eliminate the need for a decimal point) in the IR file.  However, that does not mean that the
weights will have a mean of 1 in the BR and KR files.  Women with different weights have different
numbers of children.

When you use v005 as a pweight in Stata, it always re-normalizes the weights to have a mean of
1, meaning that the total weight in any estimation command will be the same as the number of
cases. So what you are seeing is ok--not a problem.
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